Form C - Weed Risk Assessment scoring sheet

a b [ d e
Section| Question |Response'| Score | N score | Y score
A C 1.01 0 _3 | |Only score 1.02 and
C 1.02 1 1 1.03 if you answered
C 1.03 -1 1 yes to 1.01
2.01 The response for these
202 q_uestions is 2_un|ess a -
: climate analysis is done - Lookup table for section 3.
C 2.03 | 0] 1 Locate value of inputs and lookup output for each question
C 2.04 [ 0| 1 Yes _to questions 3.01 - 3.05 default
2.05 Inputs 200 0 0 O 1 1 1 2 2 2
| 2.02 1 2 0 1 2 0 1 2
C 3.01 Results 301 2 11 2 2 1 2 2 2
E 3.02 Refer to 302 2 11 2 2 1 2 2 2
A 3.03 lookup <' 303 3 2 1 4 3 2 4 4 4
E 3.04 table 1 304 3 2 1 4 3 2 4 4 4
C 3.05 1 306 2 1.1 2 2 1 2 2 2
B C 4.01 0 1] No to questions 3.01 - 3.05
C 4.02 0 1 [ {Input 205 ? N Y
C 4.03 0 1 | |Results 301 -1 0 -2
A 4.04 -1 1 3.02-305 0 0 O
C 4.05 0 1
C 4.06 0 1
C 4.07 0 1
E 4.08 0 1 Procedure for scoring nent
E 4.09 0 1 1 Record appropriate responses in column b.
E 4.10 0 1 2 Look up score in columns d & e and record
E 4.11 0 1 result in column c.
C 4.12 0 1 3 Calculate total score.
C E 5.01 0 5 4 Lookup and record recommendation.
C 5.02 0 1 5 Verify that minimum number of questions from
E 5.03 0 1 each section are answered.
C 5.04 0 1 6 Compute Agricultural (A&C) and Environmental
C 6.01 0 1 (E&C) scores: if either score is less than 1,
C 6.02 -1 1 the outcome pertains to the other sector.
A 6.03 -1 1
C 6.04 -1 1
C 6.05 0 -1 | fLookup table for 6.07
A 6.06 -1 1 years 1 2 4
C 6.07 g—H-_score 1 0 -1
A 7.01 -1 1
C 7.02 -1 1
A 7.03 -1 1
C 7.04 -1 1
E 7.05 -1 1
E 7.06 -1 1
C 7.07 -1 1
C 7.08 -1 1 Score __ Outcome
C 8.01 -1 1 <1 Accept
C 8.02 -1 1 1-6  Evaluate
A 8.03 1 -1 >6 Reject
A 8.04 -1 1 Section Minimum #
C 8.05 1 -1 questions °
Total score 3 A 2
Outcome * B 2
Agricultural scorée® C 6
Environmental ® Total 10




